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her ofQuestions: 100
!

which of the following statement is true

" regarding the social contract theory on
origin of State?

|, State is a c_cj_ention of agreement

batween people ™

7, Thomas Hobbes' social contract

theory supported limited
constitutional monarchy

3. According to Rousseau, the ruler

was bound by the general will of the

Peoplg_——ﬁ. T i

4, According to Locke, the sovereign

was absolute and his word was the

law. :

Choose the correct option from below:
1. Allare correct. ' ;

2 1 and 2 are coTTeG N

4, land4arecorrect.

_ .‘.‘ 5 —*."Uf“,"
2. Which of the following st
incorrect? ;

I Astipulation in a contract of séle th
acondition or warranty. 4

2. A breach of warranty sgmet

into repudiation of

3. A breach of copi

repudiation of corfrac

4. All these q

4. Which of the fSlIoWiING

liability were

Blackbyrn V yian

ChOOSQ thP correc 't oD
2 1,2and3

Time Allowed: 2 hours
Maximum Marks : 400

3. All of these

4 | anid 3
4. Which of the following Acts wag amegged
by the Criminal Law Amen t Act,

20137

3. The Informpation nology Act, 2000
R 1 raQraﬁicking(Prevention) Act,

ollowing observations o,
, | rights was made by the
refe Court in K.S. Puttaswamy v.

here is no overlap between rights
, enumerated under Article 19 and Article
, 21 of the Constitution of India.

" una

,hi;2_?;,? The it;“b_‘hstitutional values embodied

cle 21 contains residue of
ital rights that are not
glu,lated under Article 19 of
n of India.

Ve personal

Scanned with CamScanner



(2a)
1. Prior consent of the partjeg.

2. Neither Party must haye 4
4, Sexual orientation at the time of the marriage, use li"ing

3. Mobile number

Choose the correct option from below: 3. The bridegroom must haye

age of 21 years and the brifigmp leteq the

1. 1,3 and4 are correct. g

18 years at the time oft Ty
2. 1.2 and4 are correct, 5 ’ e mamage_ 4
A I'he parties are not Sagotrag of
3. 1,2 and 3 are correct. ! €ach ot
g The parties are not sapindadhf T,
4. All of these are correct. each othe
Choose the correct ofigion frg L
7. Which of the following is/are mechanism/ 1 5 3o beloy,
mechanisms of pacific settlement of ek <5 e t
disputes under the UN Charter? 2. Onlyl,2,3 5 Orrect.
I. Enquiry L 3. Onlyl,2a re gorrect.
2 icial 4 correct,
3:;/Arb1tratxon 12. Which g PHowing is an example
\_/4. All these 2rge omnes of stateg undg:

8. Which of the following actions of host is
allowed under the Vienna Convention on 1. § Protegtion from\Wars
i ic_Relations of 1961: av/ery

Protection from Political Crimes
4." None of these

Y o. non grata. /)

2. The host state can any time searc

Which of the following is an implied
condition in case of a contract for sale by

premises of the diplomatic staff. - sample?
3. The host s_tate can at any time,withdr 1.~ Goods shall not be free from any defect,
the immunities granted to diplomats. - rendering them unmerchantable, which
4. The host state can at anyfme confiscate wpulgi not be apparent on reasonable
the diplomatic bag. ¢ N\ - examination of the sample.
9. Which of the following phoviBians of the UN ’ 2. Bulk not corresponding with the sample

\ ; u.g&-: 'y -Win?quah,tyzr.“

Charter is correctly._ma | ‘
Settlement of 3. Buyer shall not have a reasonable

L. Article 2 (5) Bri

Disputes by PéacgfisMeans ol ""fﬁbpo f 1 t%mf comparing the bulk with
e the sample.
2 SR (I fN@n&;Intenventlon g P i =
i Nd) Profibition on Use of Foree 4 one ofthese

i“”ments about the
he Indian Penal
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3
pich among the followi is e ( a)
{6 " ferred to as the subyje SPecieg 5 'era"
: Undue Influence faud? Al 0f g
?: peliberate Mistake n ¢ll knoyy, —
' ' + Lak
te 4
3 Misrepresentation specl’:lm and Ram Married under the
A Coercion

arriage
2010 layjng 19 n‘:ftalgsm Ram di
member of the UN may he SUspeng l 50N ang ad Th
{6. from Its membership ed
| by the Security Counejj

by the International Coypy Of Justj
2 request made by the UNS 1Ce upop
\ssembly

o e UN G
b 'ﬂﬂfqﬂﬂﬂ‘.‘?ﬂw A

vould devolye on

W separate property
daughter.

T 3. The g, cession Act, 1956
- 4 Thellgdian uccession Act, 1925

A of the Indian Penal Code,
applicable in cases of Cruelty by

or relatives of the husband within
2 years of marriage

| : ‘ 3 years of Mmarriage
e No time limit
28 G)r l\ j’l to e » ' { >
LJ the follo 4. 7Tyearsof marriage

John Rawls’ ideq of basing justice on a
! has-heen cha enge

S a gold ring on the road, not

hom the ring belongs. Dinesh
 ring. Dinesh is guilty of which
e Indian Penal Code, 18607

T 1949 deals with
dition of the
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3, Treatment of Prisoners of War.
4.  None of these
26. Shamim Ara claimed her dower after ttzo
death of her husband from her husband's
property. She s a/an
I, preferential creditor to all other creditors
subject to her right to retention,
ordinary unsecured creditor, having no
priority over other unsecured creditors,
subject to her right to retention.
3. ordinary unsecured creditor but having
priority over other unsecured creditors

VORI b L0 :
4. secured c;gdi_;q; subject to her right of
retentiomy BEl L

To cede a part of the Indian Territory in

favour of any fpge!gg,pouqt,ry, which one of
the following procedural requirement must

be complied with?

. A law made by Parliament to the effect
would be relevant and sufficient.

2. Alaw must be passed in compliance with
Article 3 of the Constitution of India.

3. A Constitutional Amendment Act

be passed in compliance with Articlg 368
m%u?%%wla S
| Amendn t s

N

27.

of the Coné;‘

4. A Constitu
be passed
per Article 3
passed rela
Constitution

28.

30, In which of the following Caney |
Supreme Court made it map, ;
candidates contesting °|ecuo,,.°"/ foy
legislatures and their spouge, ¢ ty the
their source of income at the time m.f;:a"

nominations? ing
1. People’s Union for Civil | 4

of India
2. Jan Chaukidar v, Unj

3, Association for De
Union of India

: 4, , L,ok Prahari
31. In which of the

&!th’

Jn

wigh case, the SUDreme

€ public authorjy

Rpresglon caused to him for Capricioyg
B8€ of power and the money could thep
covered from the erring public

fficials?
State of Gujarat v. Memom Mahomed

2. Shyam Sunder v. State of Rajasthan
- 3. Indian Medical Association v, V.p

~ Shantha

4. Lu
6

@ggow Development Authority v. MK,

e following case, the Supreme
that “An intermediary shall be

third party nfg osted
receiving agtual knowledge
order or on/being notified by
ernment, he fails to
at material”?

Cassettes
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3. Bourhill v. Young

w/cmgh“n v. O’Brian 39. What is the principle of complementarity in
_ — the context of the International Criminal
In wh:fcfh o(fim'é‘fallowing offences Minimum Court (ICC)?
; nders . . . .
five otie are required? L.~ 1t means the ICC will assist the domestic
1. Affray criminal court in trial and prosecution of
2. Robbery

the individual accused of committing
3. Dacoity crimes enlisted in the Rome Statute, 1998.

o 2 I means the ICC will seek for lemand
4. Rioting production of accused to its jurisdiction.
Choose the correct option from beloy: 3. It means the ICC will pesecute an
I 1.2and3 are correct, individual only when_that\ifidividual
7’ 2 3 and 4 are correct submits to its jurisdiction,
-7 . 4. [t means the ICC will -
3. 1and4 are correct, individual if Sfates arsunwilling or unable
4. 3and4 are correct. : to prosecute. &
__ "0 prosecute. &
: ; . 40. The questionregarding disqualification of
35. A foreign company intends to merge wit q gardipg disq
an Indian Company. As per the rglevant: the Speaker ‘of 6k Sabha under the X
provision in the Companies Schedulgrof the Constitution of India is
(Compromises, Arrangements and referredfor the decision to
Amalgamation) Rules, 2016, it needs to : ber elected for this purpose by the.
obtain prior approval of —LoigSabha
1. Cabinet Committee on Economic A ffairs, 2. Deputy Speaker of Lok Sabha
2. Securities and Exchange Board of India, \=3:\ Deputy Chairperson of Rajya Sabha
3. Reserve Bank of India. "\4 President of India
4. Department of Economic Affairs. ' 41 Dissolution of a firm can be carried by
3. Who coined the term ‘Compensatery 1. expir;,/ of the term for which it was
Discrimination’? ‘ constituted.
1. Prof. P.N. Singh 2. adjudication of a partner as an insolvent.
Mrof MarC Galan M . 3. death ofa partner.
. - 4. - All of these
3. Prof. Upendra Baxi .
: : 42. ‘A’, ‘B’ and ‘C’ are partners in a partnership
% Justice Krishna Iyer _ firl;'n named AB&C. ‘A’ retires from the firm
37. What is the limitatidn péfiod for filing a without giving any public notice. Thereafter,
complaint under the Gonsumer Protection an existing creditor lends Rs. ten lakh to
Act, 19867 : the firm on the basis of his knowledge that
— . ‘A’, ‘B’ and ‘C’ are the three partners in the
L. One year from tie date of cause of action firm. This amount remains unpaid by the
2. 2 years'fromthe date of cause of action firm. The creditor \f;:antst ;2 fri::iover the
. H m .
3. 6 mohths from the date of cause of action unpaid loan amount fro

4. 90-days from the date of cause of action 1. No one will be liable for the unpaid loan

— amount. ‘ _
38. What s the role of sectic ,&’fg's) rade Marks 7 A, B’and‘C’ willbe 1iable for the unpaid
Act, 19997 >4 ¢ loan amount. Ly

L relief for recovery ofproer\y/g 3. .Only ‘B’ and os Will{ibe ligble for the
. g unpaid loan amount. -‘ |
{(Jv 4. Only ‘A’ willbe liable- paid loan

: o . amount.
4. decla_ration of the title

N
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(6a)
these are correct.
3, All of
43. Assertion (A): Distributive justice ll)s %Zsueadl 4. 1and3are correct.
. sse s e
on the principle that there S:Ii to 46. Consider the following statemems:
PRI nagst the eq : . ) .
distribution amang ssification Is the |. Moses V. .Macferlan Is a promine
Reason (R): Reasonablo class cxample of theory of unjust enigy €t
nt

sannot be
tice ¢ as propounded by Lord Mansﬁeld_

as jus
essence of equality as | iform law for

i romulgating un ) )
:32;3;i2 e 2. According to this theory, the demands
Soth A and R are correct and RIS the justice and cquity is to prevent lm-uo
1. 13:::u ,.L:wnn tor A. enrichment of one persévag the cogt s;
N rect but R is not the another. 0
2. Both A and R are correct bt . ' b
correct reason for A. 3, Smclalr\;: “Blrou;iriez:;q a; P"gpoun dedthe
. -In- »
3. Both A and R are incorrect. theory ol imp NACE” contrggyy,
3, _ A elaborate the datuse of Quas; Contrag
4. A s incorrect but R is correct. . fs,
i ] se the correet option from )
Choose the correct option from below: Choo below:
1. 1,2 and 3 are correct.

2. Only I"an@3.are incorrect,

I 2
2 1
33 3. Only'1and 2 are correct.
4 - 4. Only 2 and 3 are correct,
44. Consider the following statement about the 47. Censider the following statements:
Military Staff Committee: | 1. A contract with a minor is void, however,

a minor can after attaining majority ratify

1. It shall advise and assist the Security
an agreement made by him during his

Council on all questions relating to military

requirements for maintenance of

minority.

mtematlonal. peace arfd security. 2. Minor is not liable for the wrongful act
2. It shall consist of Chiefs of Staff of the when the cause of action in substance i

permanent members and twoynon- ex contractu.

members nominated by the General

Assembly. Choose the correct option from below:

1. Both 1 and 2 are correct,
2. Both 1 and 2 are incorrect.
3. Only 1 is correct.

- Only 2 is correct,

Choose the correct option from below:
. Both 1 and 2 are correct.

2. Neither 1 nor 2 is corféet;

3. Only 1is correct,

4. Only2is corredt, \ /48. Consider the following statements:
45. Consider the tg"oy‘(ing statements: 1. The(Bolitho test relates to medical
.~ Treaty on.thesProhibition of Nuclear negligencel T
Weaponisis the first legally binding 2 The pt was referred to in Maley
mtematmna.l agreement to KumagGangyly v. Stikumar Mukherjec.
comprehensively prohibit nucleq = :
~ wedporis, Choose-the correct option from below:
2 ét Was passed on July 7, 2017 by the . Both }-and 2 are correct.
; ceurity Council, 2.. Both 1 and 2 are incorrect.
. It has not come into forge, 3. lis correct but 2 is incorrect.
- Choose the correct option from beloy: 4. 1jsincorrect but 2 is correct.
. 1 VQHI}’I.Iscorrect. 49. Savithri, a married Hindu W°mandda'::
S Only 2 is correct. intestate leaving behind her hpsbﬂ?,edule '
| mother. Properties mentioned in S¢
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50.

51,

(A’ was inherited by her frqop, h

and Schedule ‘B’ Property was e;:ather

acquired pererty_ Pick out the cq self.

legal proposition from below: rrect

{, Herhusband and mother wj]
in both the properties.

9. Her husband alone will succeeq
properties.

I share equally

to both

3. Her husband will inherit Schedule ‘B’ |

property and mother will inherit Schedule
N propeITy )

4 Her mother will alone succeed to both
properties.

Article 299,A of the Constitution of India

. Annual payment to certain Devaswom
Funds

2. Privy purse sums of Rulers

3. Exemption of property and income of a
State from Union taxation

4. Exemption from taxation by States in

respect of water or electricity in certain
cases

Match the cases mentioned in List | with
legal issues mentioned in List Il and select

the correct answer using the codes given
below: '

List I

(@) Tulasamma v. Sesha Reddy
(b) John Vollmatton v.. UOT - 4,
(©) R.Kanthav.UOI
(@) Sandhya v. Union of Thdia,

List 11
L Right ofa daugHiter tofreopen the partition

1s valid :

2 A Hindu havingsa daughter under the

Hindu Adoption and Maintenance Act,
1956

3. Limited estate of a woman becomes
40Solute estate

ngpn 118 of the Indian Succession Act,

3 is unconstitutional *’
Codes:
. (@) d
., P 0D
L B3 4 il
@) 4 3 ] 2
93 e 1 2

(7a)

52. Match sub

53.

with g jecf Matters contained in List |

Indly. eLProwsnons of the Constitution of

o N List Il and select the correct answer
M the codes given below:

List 1

List IT

(@ Maternity relief 1. Article4l
(b) Living wage 2. Articlg 42
() Right to work 3. Anicled3
@ Organisation of 4, Ahticle 48

agriculture
Codes:

() (®) ¢ (d)
M 4 1 3 2
1 3 4 2
3) 2 3 1 4
@) 3 4 2 1

Match Ristlcontaining with List !l containing
the important principles used in deciding
these cases and choose the correct
options from the codes given below:

List 1
(@) Durga Prasad v. Baldeo
(b) Abudl Azizv. Masum Ali
(c) Dutton v. Poole
(d) Tweddle v. Atkinson
List 11

1. The other party has done nothing in
response to unilateral promise and hence
no consideration.

2. No stranger to the consideration can take
advantage of a contract, although made
for his benefit.

3. Act was not done at the desire of the
promisor and hence no consideration.

4. The agreement may be enforced by the
third person for whose benefit the
agreement was made,

Codes:

@ ® © @
M3 2 1 4
2 1 3 4 2

33 1 4 24
@4 1 2 3
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. . h
54. Match the principles mentioned in LLs;le\;v‘:::t
the associated cases in List Il adn e

the correct answer from the codes g

below:
ListI
(a) Neighborhood Rule
(b)  Volenti non fit injuria
(c) Vismajor
(d) Res ipsa loquitur
List Il
Greenock Corp. v. Caledonian Rly.
Donoghue v. Stevenson
Achutro Haribhau Khowda v. State of
Maharashtra
4. Smith v. Charles Baker and Sons

“r 0 -

Codes:

(a) (b) (0 (d)
(1) 4 3 2 1
2 3 1 2 4
31 3 4 2
@ 2 4 1 3

55. Match List | containing specific provisions
of the Indian Contract Act, 1872 with Li§ti
containing corresponding subject matter
and select the correct answers using the
codes given below:

List I ListIT
(a) Section2(a) 1. Voidable Centract
(b) Section2(d) 2. Proposal

(c) Section 2(j)
(d) Section2(f)
(€) Section2(e)
Codes:

@ o> (o @ (o)

b

3. Agreement
4 "Reciprocal Promises
5.%Consideration

4)) 5 N 4 |

\ e 3
2)2 & I 4 3
(3) 2 5 3 4 |
(Mi 3 2 4 5

56. Match the

Indian Penaj Coge 1860 L
13 ’ i
in List Il ang sefactih st I with the cases

codes given below:

v

R ——

57.

58.

ListI -
(a) Unsound'ness of mind
(b) lntoxicatlofl
(c) Private defence
(\d) Mistake of fact
List 11
|. Basdev v. State of PEPSU
2. State of Orissa v. Ram Bahadyr Thapa
3. Dahyabhai Chhaganbhai Thakker v State
of Gujarat
4, Deo Narain v. State ofiUsP.

Codes:

(a) (b) (©) (d)
1 3 1 4 2
) 2 3 4 ]
@31 4 2 3
@ 4 2 3 1

Mateh List,I containing cases with Ljgt
containing respective areas of contract ang
select,the correct answers using the codeg
given,below:

ListI
(a)  Balfour v. Balfour
(b) Felthouse v. Bindley
(©) Krellv. Henry
(d) Harvey v. Facey
ListII
1. Frustration of contract
2. Invitation to receive offer
3. Intention to contract
4. Communication of acceptance to offeror

Codes:

(a) (b) (c) (d)
M3 1+ S 2
@ 3 4 1 2
33 2 1 4
@ 4 2 3 1

Match List | with List Il and select_ the
Correct answer using the codes given
below:

List I ~ ListIL
(a) Brenda Cossman 1. Rights ‘
(b) Bhikkhu Parekh 2. Feminist Legal

~ Theory
(¢) Holmes 3. Realism
d) J.S.Mill 4. Utilitarian
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codes:

(a) (b) (c) (d)
0?2 4 3 |
@ 2 ! 3 4
0) 4 : 2 3
() | : : 4

consider the following propositigng.

| A void marriage remains v
decree annulling it has been
competent court.

59.

alid unti] 4
Passed by a

L]

A void marriage is never a valid ma
and there 1s no necessity of any
annulling 1t.

rriage
decree

A voidable marriage remains valid until a

decree annulling it has been passed by a
competent court.

w2

4. Children born out of void marriage wil| get

legal protection under section 16 of the
Hindu Marriage Act, 1955 on the basis of
decree of nullity of such marriage,

Choose the correct option from below:
1. 2and 3 are correct.

2 1,3 and 4 are correct.

3. 1,2and3 are correct.

4. land?2 are correct.

§0. Who among the following can rem@ve the
name of company from the register of
companies on suo-motu basis{in ‘terms of
section 248(1) of the Companies'Act, 20137

I Registrar of Companies

2 Securities and Exchange Board of India
b 3 National Compapy Law Tribunal

* Ministry of Cdrporate Affairs

Who amongst the following accepts that
nghts arevimportant because they can

63,

64.

 7.| 2 enﬂ)rced”? \

‘ ' Buchanan
. Thomas Hobbes

| Felson's theory of law suggests that
.| Legal order is a hierarchy of norms.

+ The basic content of the law is determined .
¥ Grundnorm (the basic norm).

3.
4,

AW 14 1 command,

LT . : i '
Pure theory of Jaw deals with law as it
ought 1o be,

Choong the corract option from below:

L 2and 3 are correct,

2 1,2and 4 are correct,
3 1,2and 3 are correct,
4,

Fand 2 arc correct,

Consider the following propositiohe:

LA Muslim woman, gh hér hlisband’s
death, need not follow [ddét if Her marriage
15 valid but not cénsummated.

2. A Muslim womafinon divorce, need not
follow Iddaf{ifher, marriage is valid but
not consummatéd.

3. 'A Musglim woman, on divorce, has to
observeNlddat'if her marriage is irregular
but Consummated.

4, A Muslim woman, whose marriage is void
but consummated, has to observe Iddat
till delivery if she is carrying the child in
her womb in case of her husband’s death.

Choose the correct option from below:
1. 2and 3 are correct.

2. Only 4 is correct.

3. . Only 2 is correct.

4. 1and4are correct.

Consider the following statements about

the International Tribunal for the Law of the
Sea (ITLOS): |

1. The Tribunal is composed o
independent judges. I,

It is based in Hamburg, Germany.

3. Dr. Neeru Chadha from India has been

appointed as f the Judges of the
Tribunal in 2017,

Choose the correct option fr
1. Only 1is correct.

\W{sconect.
All of these are correct.

4. Only 3 is correct,

‘below:

65. Consider the following statements:

l..“Under the UN Charter, the General

ot Assembly may take up issues relating to
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67.

(10a)

maintenance of international peace and
security, including the principles
governing disarmament and the
regulation of armaments,

2. Under the UN Charter, the .Sg(:'uri‘ly
Council has the primary rcqunsnblhty for
the maintenance of international peace

and security.
Choose the correct option from below:
1. Only 1 is correct,
2. Only 2is correct.
3. Both I and 2 are correct.
4. Neither I nor 2 is correct.

Consider the following statements:

1. The motion for removal of a Supreme
Court Judge submitted to the speaker of
the Lok Sabha lapses with the dissolution
of Lok Sabha.

2. The Inquiry Committee appointed under
the Judges (Inquiry) Act, 1968 to ascertain
the veracity of the motion for removal of
the judge can be treated as a tribunal
under Article 136 of the Constitution.

Choose the correct option from below:

. Only 1is correct.

2. Only 2 is correct.

3. Both 1 and 2 are correct.

4. Neither 1 nor 2 is correct,

Consider the following statements:

1. The Statute of the Intéfnational Court of
Justice is an integral part.of the UN.Charter.

2. All members ofithe UN are ipso facto
parties to the Statute of the International
Court of JusticeN,

3. The Statute-of.the International Court of
Justice is a'eparate treaty, and members
of the\UNphave to separately ratify it in
order to\be bound by the same.

Choose the'correct option from below:
1. Only 1is correct,

2. None of these is correct.

3. 1,2 and 3 are correct,

4. 1and?2 are correct,

68. Consider the following statements: .

1. Allrobberies are either theft or extortion.

69.

70.

2. If A holds Z down and fraUdUlenu
Z ’s money without Z’g Consept %,"}tfkes
an example of theft as robbery, - 18 j

3. A obtains property from z by sav;
his child is in the hands of p gy;:g thay
will be put to death unless 5 ransomgo?nd
lakh rupees is paid. Z wag howeyer n5(]

ot

put in fear of instant death of chilg
is an example of extortion ag mbber.y, is
Choose the correct option,from Below:
1. Only 1 iscorrect.
2. 1,2 and 3 are correct,
3. 1and2are corfect

4. 1and 3 aregorrect.

Consider the following statements:

. An agreement made without adequate
coffSideration is void.

2. Awritten and registered agreement made
on account of a natural love and affection
between the close relatives is not valid
without adequate consideration,

Choose the correct option from below:

1. Only 1 is correct.

2. Only 2 is correct.

3. Both 1 and 2 are correct.

4. Both 1 and 2 are incorrect.

Consider the following statements:

1. There may be situations where only one
party is bound to the terms of the contract.

2. In order to convert a proposal into a
promise, the acceptance must be absolute
and may be unqualified.

3. Death or insanity of the proposer is
considered as good ground for revocation
of proposal in all circumstances.

- Choose the correct option from below:

71l

1. Only 1 is correct,
2. Only2is correct.
3. 1and2 are correct.
4. 1and 3 are correct.

Consider the following statements:

1. The minor is estopped from setting t}:l;
defence of minority w'hen]fhas
isrepresenting his age minor himse
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" duced the other party to ¢p

. ter into
eement with him,
a

ection 11 ofthe Indie_m Contract Act, | 872
eclares that only mInors and persong of
unsound mind are incompetent to make
contract-

codes:
{ Onlyl is correct.

, Only2 is correct.
; Both1 and 2 are correct.
4' Both 1 and 2 are incorrect.

o a resident of Mumbai has a website

" www.caravan.co.in’ launched in 2015, ‘A’
has a business of apparels in Mumbaij
having a trade mark ‘CARAVAN’. The
website is accessible from Delhi. ‘B’ g
resident of Hyderabad starts a website
'www.caravaan.co.in’ in 2017 having the
same business. The website of ‘B’ consists
of a catalogue, a toll free number, and an
email address. ‘A’ wants to file a suit for
passing off of trade mark in Delhi.

l. ‘A’ can file a suit in Delhi on the basis of
accessibility of website of ‘B’.

2 ‘A’ cannot file a suit merely on the
accessibility of website.

3. ‘A’ cannot file a suit in Delhi as the website
of ‘B’ is not inte ractive.

‘A’ can file a suit if ‘B’ specifiéallyargets

the forum state resulting inharmto ‘A’ in
forum State,

Choose the correct option ‘frém below:
L Only 1is correct, .

2 Only 3 and 4 are'eorrect.

% Only4s correct.

n * 23ana4 arejeorrect:
| 1:’ has fgnt money to ‘P&Q’ firm engaged
ta the cemenbhusiness and has agreed to

8 "! addition to, or in place of his interest,

It g OMf the profits of the firm business.
%N be said that

' :A’ is a partner as well as a creditor of the
) P&Q’ firm,
N A’isapartner in ‘P&Q’ firm.

- A : ¢ ! firm

) 1snotaparmerm;‘he{l?&g fim.. . .
s O e

,’x';*;f' %

74- i
Minor can be admitteq to the benefits of
the firm

1. wnth' the consent of all the existing
creditors of the firm.

with the consent of all the partners.

Wi_th the consent of the guardian of such
minor,

4. All of these

75, ‘A instigates ‘B’ to murder C’. ‘B’ refuses
to do so. Which offence under“the Indian

I;\enal Code, 1860 has béen committed by
6 )?

1. No offence

2. Abetting to commit murder
3. Conspiracy to commit murder
4. Attempft6 murder
76. Which of the following goals are mentioned
in the(preamble of the UN Charter?

1. To sdve succeeding generations from the
scourge of war.

2.°lo reaffirm faith in fundamental human
rights, in the dignity and worth of the

»e, DUman person, in the equal rights of men
" and women and of nations large and small.

3. To promote social progress and better
standards of life in larger freedom.

4. To promote democratic order in conflict-
ridden societies.
Choose the correct option from below:
1. Only 1 and 3 are correct.
2. Only 1 and 2 are correct.
3. Only2 and 4 are correct.
4. 1,2 and3 are correct.
77. Which of the following is an example of
intangible property?
1. Sale Deed of land
2. Pass book of a bank account
3. Anautobiographical work
4. Indemnity Bond

78. Which of the followin
in Hohfeld’s scheme
1. Right—Liberty
2, POWer-Liabi]ity
S Liberty-No-Righ

z 3 M_q;g‘ N .’

3

g are jural correlatives
of analysis of rights?

Inity-Disabilitui o
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Choose the correct option from below:

I 1,2,3and 4
2. 1,2and3

3 2,3and4

4. land?2

79. Which of the following is not a %(:Jd;
associated with the European Union (EU)

I. Council of the European Union
2. Council of Europe

European Commission

4. European Council

w

80. Which of the following statement is
incorrect as per the Constitution of India?
I. The President of India exercises three
functions, namely, summoning,
prorogation and dissolution in relation to

the Houses of Parliament.

2. The President of India may address either
House of Parliament or both Houses
assembled together.

3. Allocation of seats in the House of the
People to the States shall be readjusted
upon the completion of each census.

4. The Speaker summons the House of
People,

81. Which of the following statement is
incorrect about the Attorney Géneral for

India?
I Attorney General s appointed by the
President,

2 Attgmey General shall“Have right of
audience in all cortein India in the
performance of His dutfes.

3. Attorney Genéra] shiallbe entitled to vote

when he takes part in Parliamentary
proceedirngs:

4, Attorney.Gendral for India shall haye the

right to‘take part in the proceed;
Py p eedings of

L. In the case of difference of Opinion
- be_nyeen the LleutenantGovemorand his
iMnisters on any matter, the Lieutenant

83.

84.

85.

Govemnorshall refer it ¢
decision.

2. If any provision of law .
l_,egisla.tive Assembly With ;2:5: by the
matter is repugnaqt to an prOViSi °any
law made by Parliament With re on Of
that matter, the law made by p Spect fo
shall prevail. liame,

3. The Chief Minister anq Othe
shall hold office during th
the Lieutenant Govergpy.

4. The Union Territory Of Delh; sha
called the NatfonalNgapity) Te”its ¢
Delhi. Iy of

Which of the following statement abOUtth

Comptrollerand Auditor Generg (CAG) o?

India is incorreet?

I Second’Schedule of the Constitutjy,
Specifies the salary
eenditions of CAG,

2. "BAG is appointed by the President of
India.

3. CAG shall be removed in the manper like
that of Judge of the Supreme Court,

4. CAG submits the reports relating to the
accounts of the State to the President of
India.

Which of the following statements s
Correct as per the Constitution of India?

I There shall be a Special Officer for

linguistic minorities to be appointed by
the President.

2. All proceedings in the Supreme Courtand
every High Court shall be in the English

language.
3. The official language of the Union shall
be Hindi in Devanagari script. ,
4 Every person shall = submit ntcei
representation for redress of g“e‘l’?s hor
to the Union in the language of Eng
Hindi. di /
L.
Which of the following ;.)r.esu;ﬂll;:: on
reasons best justify the validity 0
hate speech?
1. Equality means uniformity.

2. Equality and liberty may O
become contradictory values.

0 the Presidem ¢
0

Ministers

and Service

metimes
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, ways prioritize et
[lawbhoulds ys| Url!l/.(,u|ll.l||lynw:r
b jberty: oar

quality and liberty must be Imrnmnimmly
4 Construc(l.

ose th° correct option from by,
gand4are correct,
¢
7' | 2and 4 are correct.

3.
’ 1 ,md 4 are correct,
J. t

. 2and 3 are correct.

hich of the following Provisiong qof the

et India provid

g 1 titution of p @8 for the
::smution of Panchayatg?
¢

L Article 243-F
Article 243-H
Article 243-B
Article 243-E

(S

e

-, Which of the following is true about the tegt
f of directness to determine remotenegg of
damage?

I Ifsome harm is foreseeable, the defendant
is liable for all direct consequences of his
act, even if the actual damage is of a
different kind than what was foreseeable,

2. Ifsome harm is foreseeable, the defendant
is liable for all direct consequences of his
act, only if the actual damage is of the
same kind as was foreseeable.

3. The defendant is liable for d@llNdirect
consequences of his act.

The defendant is liable only fomthose

consequences that are foresgeable by a
reasonable man.

%. Match the following [corregtly:
Conference

@ Uniteq Nation's Sustainable Development
Summit

® United™Nagions Conference on
Envitonmént & Development

O Word™\ Summit on Sustainable

) DeVelopment

Unifed Nations Conference on Sustainable
evelopment

| Outcome Document
* Agenda 21

. Iransformmg our world: the 2030 Agenda
*r Sustainable Development

(134)

89,

3.

bht y
e Futype We Wany?

A Johyy
Hoomnesburg Declarg sustainable
“‘""5");nm:n|, ation on Sustainable
C()dﬂu:
(a) (h) (c) (d)
(l) 4 i 7 .s
(3) 3 4 .l
Assartion (A): A Governgr iSyafays
BUPpO?

05ed 10 act on the advigh ofthe Bouncil
of Min

isters in matter of appeintmgnt of the
Chief Ministor,

Reason (R): Like Articla 74(4), Article 163(1)
of the Constitutionff tadia ‘thake it mandatory
for the Governor t@ Act in accordance with

the advice tgfidered by the Council of
Ministers,

Choos@'the cofrect option from below:

1. Both (&) and (R) are correct and (R) is the
wcorrectireason for (A).

2*=Both (A) and (R) are incorrect.

3.\ (A) is incorrect but (R) is correct.

w4, (A)iscorrectbut (R)is incorrect.

90. X Ltd. is an Indian company, other than a

company referred to in sub-rule (2) of Rule
2 of the Companies {Restriction on number
- of layers) Rules, 2017 which relates to the
“Restriction on number of layers for
certain classes of holding companies”. X
Ltd. has a wholly owned Indian subsidiary
Y Ltd. Y Ltd. has another Indian subsidiary
Z Ltd. and it owns 60% of its total share
capital. Y Ltd. now seeks to form another

Indian subsidiary K Ltd. Which of the
following is correct?

1. Y Ltd. is permitted to have K Ltd. only as

its wholly owned subsidiary and not
otherwise. ’

2. Y Ltd. is permitted to have K Ltd. as its
subsidiary.

3. Y Ltq. is not permitted to have K Ltd. as its
subsidiary as this investment will be
beyond the maximum permissible layers.

Y Ltd, is not permitted to have K Ltd. as its
subsidiary as X Ltd. is not covered by the
abovementioned sub-rule (2). |
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corroct
91. Match List | and List Il and select tho

answer using the codes given below:
List 1
(a) Rukia Khatun v. Abdul Laskar
(b) Shayara Bano v. UOI .
(¢) Shamim Ara v. State of UP
(d) Danial Latifi v. UOI

List Il |
I. Divorced wife is cniiilcd, to Mf;ir,
reasonable and fair provision for future.

2. Un-communicated talaq is no talaq.
3. Triple Talaq is unconstitutional
4. Reconciliation should precede Talaq

Codes:

(a) (b) () (d)
(1) 4 2 2 I
) 3 | 4 2
Q) 4 3 1 2
“ 2 3 4 1

92. Santosh, a jailor has charge of a prisoner
Virender. Santosh with an intention to cause
death, illegally omits to supply Virender
with food., However, Virender does not die,
though his strength is considerably
reduced. Santosh is dismissed from the
office and replaced by Geeta, Geeta,
without collusion with Santoghy illegally
omits to supply Virender with food,
knowingfully well that she Is fikely thereby
to cause Virender's death. Virender dies of
starvation,

Choose the correct option:

L. Both Geeta and Santdsh are guilty of
murder, ,

2 Only Gegta isguilty.of murder and Santosh
18 not guilty of dny offence,

3. Both Santo¥h and Geeta are guilty of
attemphto turder,

4 quta is guilty of murder and Santosh ig
guiltyrof attempt to murder,

93. The egg shell sy

i Principle wag applied
1. Pagev, Smith

2. Watson v, Buckley and Osborne, G
and Co, Ltd, et

3. Smith v. Leech Brainand Company
4. Dulieu v. White

94. The term of c;o!;ytﬂght in clnematograph
films shall subsis

I, twenty five years from the t?eginning ofihe
calendar year next fqllowm the yeg in
which the film is published,

2. sixty years from the beginning of the
calendar ycar ncxt' iollowmg the year i
which the author dies.

3. sixty years from thé beginning of the
calendar year pext follewing the Year ip
which the filmigpublihed.

4, None of these

95. The wordy reasbnable” wasg added jn
clause 2 of Article 19 of the Constitution of
Indiagthrough:

1. Twenty-fourth Constitutionaj Amendmen¢
2. First,Constitutional Amendment -
3. 7 Sixteenth Constitutional Amendment

4, None of these

96. The maxim de minimis non curat lex
incorporated in which section of the Indian
Penal Code, 18607

1. Section 95
2. Section 84
3. Section 94
4. Section 86

97. The Haryana Panchayat Raj (Amendment)
Act, 2015 included some categories which
rendered persons falling in any of them,
incapable of contesting Panchayat
elections in the State of Haryana. This
Amendment was declared constitutionally
valid by the Supreme Court in Rajbala v.
State of Haryana (2015). Who amongst the
followlng are not included in those
Categories? .

L. Al contestants must be matriculate.

2. Persons against whom charges are framed
I cases punishable not less than 10 years.

3. Persons who have arrears of electricity bill.

Persons who do not have functional toilet
at their home,
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rhe Constitutional validity o

Secuon
¥ the Indian Penal Code, 1gg a 497
f,’haueng“’ in which of the followlng

| shakt Vahini v. Unjon of India 0086 the Corract o
Binda Prasad v. State of M.p. | d4 are correct.
Joseph Shine v. Union of India

Dr. Subhash Kashinath
of Maharashtra

s been 4. is

Plete byt inchoate, until a suit
Cageg. ingtitutey.

Ption from below:

2and 3 are Correct.
3. Only 4 i Correct,
4, 1 and 4 gre correct,

: deserﬂon un 0. The Information Technology Act, 2000
he Hindu Marriage Act, 1955 §? - applies tq which
1 commences when the ¢

of the following
separation and the animu

Mahajan V. State

transactions/documents?

s deseren(i . Trust
co-exist. 2. Promissory note

. isavalid ground for div;l§1e eriod 3. Electronic cheque
of desertion is one year, 4 All these

. requires withdrawal fro e of things

as well as from pla?uesidence.

S

Scanned with CamScanner



Delhi University Law Entrance Test \

(LL.M.)—2018
, 3.(4 4.(2) 5.(3)
LG) 2.(2) 9 8 10.(3) 11.(4) 6.(2)
7.(4) 8.(1) o 16, 0% 17.3) :z.(z)
13.(4) 14.(4) 21.(2) 22.(3) 23.(3) ) (2)
19.(4) 20.(3) - | 29.(4 4.0y
S 260 o " 81; 35, 8 43"' g
31.(4) 32.03) 33.(4) ' " Q)
39.(4) 40. (1) (4 4
37.(2) 38.(3) (2)
13.0) 44.(3) 45.(4) 46.(1) 47.(4 4.
49.(3) 50.(1) ‘
55.(2) 56.(1) 57.(2) 58.(2) 60.(1)
A 63.(1) 64.(3) 3) 66,4
61.(3) 62.(4)
69.(4) 70.(1) - 4) 72.(4)
67.(4) 68.(3)
73.(3) 74.(2) 75.(2) 76.(4) .(3) 78.0)
o 31.03) 82.(3) 3.4 8.0
79.(2) 80.(4)
85.(1) 86.(3) 87.(1) 88. 89.(2) 90.(2)
91.(1) 92.(4) 93.(3) 94. 95.(2) 96. (1)
97.(1) 98.(3) 99. (4) 3)

&

. S . University-
i cording to the a ev released by Delhi UntV
Answers given here are ac g nswer key | }:

o
\é e,

Scanned with CamScann'ér





